

Problem1.

(a) $S = HR^T = \begin{pmatrix} A \\ 9 \end{pmatrix} = \begin{pmatrix} S_1 \\ S_3 \end{pmatrix}$, $S_1^3 = A^3 = F \neq S_3 \Rightarrow$ Thereismorethanoneerror.

$\sigma_1 = S_1 = A$, $\sigma_2 = (S_1^3 + S_3) / S_1 = E \Rightarrow \sigma(x) = x^2 + Ax + E = 0$.

$\sigma(x) = 0$ hastworoots:6andC \Rightarrow Thereare2errors.

\therefore Thecorrectedcodewordis(101010000011000).

(b) $S = HR^T = \begin{pmatrix} 0 \\ 6 \end{pmatrix} = \begin{pmatrix} S_1 \\ S_3 \end{pmatrix} \Rightarrow$ Morethan2errors.

(c) $S = HR^T = \begin{pmatrix} 1 \\ 2 \end{pmatrix} = \begin{pmatrix} S_1 \\ S_3 \end{pmatrix}$, $S_1^3 = 1 \neq S_3 \Rightarrow$ Morethan1error.

$\sigma_1 = S_1 = 1$, $\sigma_2 = (S_1^3 + S_3) / S_1 = 3 \Rightarrow \sigma(x) = x^2 + x + 3 = 0$.

$\sigma(x) = 0$ hastworoots:CandD \Rightarrow Thereare2errors.

\therefore Thecorrectedcodewordis(111111100000000).

(d) $S = HR^T = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \Rightarrow$ Noerror.

(e) $S = HR^T = \begin{pmatrix} 7 \\ 1 \end{pmatrix} = \begin{pmatrix} S_1 \\ S_3 \end{pmatrix}$, $S_1^3 = 7^3 = 1 = S_3 \Rightarrow$ Thereis1error.

Thecorrectedcodewordis(001010100000011).

Problem2.

(a) Proof: \forall codewordC=(C₀C₁C₂.....C₁₄),C^R=(C₁₄C₀C₁C₂.....C₁₃).

$$H' C^T = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \Rightarrow \begin{cases} \sum_{i=0}^{14} C_i 2^i = 0 \\ \sum_{i=0}^{14} C_i (2^i)^3 = 0 \end{cases} \Rightarrow \begin{cases} 2 \sum_{i=0}^{14} C_i 2^i = 0 \\ 2^3 \sum_{i=0}^{14} C_i (2^i)^3 = 0 \end{cases} \Rightarrow \begin{cases} \sum_{i=0}^{14} C_i 2^{i+1} = 0 \\ \sum_{i=0}^{14} C_i (2^{i+1})^3 = 0 \end{cases}$$

$$\Rightarrow \begin{cases} C_{14} + \sum_{i=1}^{14} C_{i-1} 2^i = 0 \\ C_{14} + \sum_{i=1}^{14} C_{i-1} (2^i)^3 = 0 \end{cases} \Rightarrow H' C^R = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \Rightarrow C^R \text{ is also a codeword.}$$

\Rightarrow The(15,7)linearcodewordis cyclic.

(b) $\deg(g(x)) = n - k = 15 - 7 = 8$, $g(x) \mid x^{15} - 1$,

$$x^{15} - 1 = (x+1)(x^2 + x + 1)(x^4 + x + 1)(x^4 + x^3 + 1)(x^4 + x^3 + x^2 + x + 1),$$

So: $g(x) = (x^4 + x + 1)(x^4 + x^3 + 1) = 1 + x + x^3 + x^4 + x^5 + x^7 + x^8$, whose

corresponding codeword is $(1101110 \quad 11000000) \stackrel{\Delta}{=} C_A$

or $g(x) = (x^4 + x + 1)(x^4 + x^3 + x^2 + x + 1) = 1 + x^4 + x^6 + x^7 + x^8$, whose

corresponding codeword is $(100010111000000) \stackrel{\Delta}{=} C_B$

or $g(x) = (x^4 + x^3 + 1)(x^4 + x^3 + x^2 + x + 1) = 1 + x + x^2 + x^4 + x^8$, whose

corresponding codeword is $(111010001000000) \stackrel{\Delta}{=} C_C$.

$$\therefore H' C_A^T \neq \begin{pmatrix} 0 \\ 0 \end{pmatrix}, \quad H' C_B^T = \begin{pmatrix} 0 \\ 0 \end{pmatrix}, \quad H' C_C^T \neq \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$\therefore C_B$ is the codeword for $g(x)$. So $g(x) = 1 + x^4 + x^6 + x^7 + x^8$.

Problem3.

$$(a) \begin{cases} c_0 = a_0 b_0 + a_1 b_3 + a_2 b_2 + a_3 b_1 \\ c_1 = a_0 b_1 + a_1 b_0 + a_1 b_3 + a_2 b_2 + a_3 b_1 + a_2 b_3 + a_3 b_2 \\ c_2 = a_0 b_2 + a_1 b_1 + a_2 b_0 + a_2 b_3 + a_3 b_2 + a_3 b_3 \\ c_3 = a_0 b_3 + a_1 b_2 + a_2 b_1 + a_3 b_0 + a_3 b_3 \end{cases}$$

$$(b) \begin{cases} D = (1101)_2 \\ 4 = (0100)_2 \end{cases} \Rightarrow \begin{cases} (a_0 a_1 a_2 a_3) = (1011) \\ (b_0 b_1 b_2 b_3) = (0010) \end{cases} \Rightarrow (c_0 c_1 c_2 c_3) = (1000) \Rightarrow D \bullet 4 = (0001)_2 = 1$$

Problem4.

$$F = (1111)_2 \leftrightarrow x^3 + x^2 + x + 1$$

Apply the extended Euclidean algorithm, we get:

i	s_i	t_i	r_i	q_i
-1	1	0	$x^4 + x + 1$	—
0	0	1	$x^3 + x^2 + x + 1$	—
1	1	$x + 1$	x	$x + 1$
2	$x^2 + x + 1$	x^3	1	$x^2 + x + 1$

$$\therefore (x^2 + x + 1)(x^4 + x + 1) + x^3(x^3 + x^2 + x + 1) = 1$$

$$\therefore x^3(x^3 + x^2 + x + 1) = 1 \pmod{(x^4 + x + 1)}, \quad x^3 \leftrightarrow (1000)_2 = 8.$$

$$\therefore F^{-1} = 8.$$